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Level 2 Geography 2024
91242 Demonstrate geographic understanding of 

differences in development

Credits: Four

Achievement Achievement with Merit Achievement with Excellence
Demonstrate geographic understanding 
of differences in development.

Demonstrate in-depth geographic 
understanding of differences in 
development.

Demonstrate comprehensive 
geographic understanding of differences 
in development.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt ALL parts of the question in this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet.

Check that this booklet has pages 2–10 in the correct order and that none of these pages is blank.

Do not write in the margins ( ). This area will be cut off when the booklet is marked.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.

SUPERVISOR’S USE ONLY

Draw a cross through the box ( )  
if you have NOT written in this booklet
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No part of the candidate’s evidence in this exemplar material 
may be presented in an external assessment for the purpose 

of gaining an NZQA qualification or award.
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Subject:  Geography 

Standard:  91242 

Total score: 04 

Grade 
score Marker commentary 

A4 

This response demonstrates some understanding of differences in 
development so fulfils the criteria for an A4.  
The candidate provides a brief explanation of how location impacts 
development in Laos and the USA. There is little case study evidence of 
specific developmental differences. For example, there are only general 
ideas of differences, such as ‘little money to invest’. This could be more 
detailed – for example, by providing a GDP figure to support the point.  
Part (b) includes some case study evidence to prove differences between 
the USA and Laos, however, the answer is lacking in explanation overall. For 
example, more detail of how the strategy of removing UXOs (unexploded 
bombs) will improve education, could extend the response.  
Holistically, the candidate understands differences in development between 
two case study countries. To improve to an M5, the candidate needed more 
detailed explanation with clear case study evidence. 

  




